
C

2 31 4

B

A

D

E

F

LM004

23.05.2023I.Agar

WEIGHT: 

A4
SHEET 1 OF 13SCALE: 1:15

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Slide Mia



 5
85

6 

 3745 

 2
85

6 

 745 

 R1500  1
50

0 

 R1500 

 1500  1500 

 R1500  R1500 

 R1500  R1500 

 1500  1500 

 R1500  R1500 

 1500  1500 

 1000  1000 

 R1
00

0 

 R1000  1
50

0 

Safety area

C

2 31 4

B

A

D

E

F

LM004

23.05.2023I.Agar

WEIGHT: 

A4
SHEET 2 OF 13SCALE: 1:30

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Slide Mia



 628 

 8
98

 

 27,80  27,80 

 5
85

6 

 3745 

 1
84

4 

Foundation

C

2 31 4

B

A

D

E

F

LM004

23.05.2023I.Agar

WEIGHT: 

A4
SHEET 3 OF 13SCALE: 1:30

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Slide Mia



 745 

 5
0 

 1
83

0 

 9
50

 

 2856 

 300  300 

 3
00

  4
8 

 7
41

,6
3 

 6
00

 

 5
0 

B

C

D

1 2

A

321 4

B

A

5 6

C

Slide Mia

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:30 SHEET 4 OF 13

A4
WEIGHT: 

I.Agar 23.05.2023

LM004



LM004 98x98x1660 post

LM004 98x98x550 Beam

LM004 30x145x510mm stair step

LM004 30x145x510 stair 
step with ribbon

LM004 slide guard panel
2x

LM004 Stair side panel, right

LM004 Stair side panel, left

2x
6x

MF version: 530mm !!!

C

2 31 4

B

A

D

E

F

LM004

23.05.2023I.Agar

WEIGHT: 

A4
SHEET 5 OF 13SCALE: 1:15

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Slide Mia



42,4x1345mm groundfixing

U-profile groundfixing 750mm

LM004 Start panel

Slide guardrail 500mm

Post cap 115x107,5mm

H-950 Slide

2x

2x

C

2 31 4

B

A

D

E

F

LM004

23.05.2023I.Agar

WEIGHT: 

A4
SHEET 6 OF 13SCALE: 1:15

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Slide Mia



A

B

C

DETAIL A
SCALE 1 : 10

6 x 90 Woodscrew6 x 90 Woodscrew

Post cap 115x107,5mm

DETAIL B
SCALE 1 : 10

LM004 98x98x550 Beam

LM004 98x98x1660 post

M12 Nut cover
M10 Washer DIN9054

10x160 screw DIN571
M12 Nut cover cap

DETAIL C
SCALE 1 : 10

M10x120 bolt DIN603M10x120 bolt DIN603M10x120 bolt DIN603M10x120 bolt DIN603

M12 Nut cover
M10 Washer DIN9054

M10 Nut DIN985
M12 Nut cover cap

U-profile groundfixing 750mm

MF version: 530mm !!!

B

C

D

1 2

A

321 4

B

A

5 6

C

Slide Mia

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:20 SHEET 7 OF 13

A4
WEIGHT: 

I.Agar 23.05.2023

LM004



6 x 60 Woodscrew6 x 60 Woodscrew

Aluminium post filling for post capAluminium post filling for post capAluminium post filling for post capAluminium post filling for post cap

Profile post cap

Profile post cap with cut edges

6 x 60 Woodscrew6 x 60 Woodscrew

Post

U-profile groundfixing 750mm

750mm U-groundfixing cap filling750mm U-groundfixing cap filling750mm U-groundfixing cap filling

M10x120 bolt DIN603M10x120 bolt DIN603

M10x110 bolt DIN603M10x110 bolt DIN603

M12 Nut cover

M10 Washer DIN9054
M10 Nut DIN985

M12 Nut cover cap

Aluminium profile post cap and 750mm 
U-profile groundfixing assembly

Step 1

Step 2 Step 3

C

2 31 4

B

A

D

E

F

LM004

23.05.2023I.Agar

WEIGHT: 

A4
SHEET 8 OF 13SCALE: 1:10

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Slide Mia



D

DETAIL D
SCALE 1 : 10

Slide guardrail 500mm

4,8x13 screw DIN9112

M12 Nut cover

M10 Washer DIN9054

M10x50 bolt DIN933

M12 Nut cover cap

M12 Nut cover
M10 Washer DIN9054

10x80 screw DIN571
M12 Nut cover cap

B

C

D

1 2

A

321 4

B

A

5 6

C

Slide Mia

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:20 SHEET 9 OF 13

A4
WEIGHT: 

I.Agar 23.05.2023

LM004



M10x80 bolt DIN603

M12 Nut cover for tube
M10 Washer DIN9054

M10 Nut DIN985
M12 Nut cover cap

6 x 90 Woodscrew6 x 90 Woodscrew6 x 90 Woodscrew

LM004 Stair side panel, right
LM004 Stair side panel, left

LM004 30x145x510mm stair step

LM004 
30x145x510 stair 
step with ribbon

C

2 31 4

B

A

D

E

F

LM004

23.05.2023I.Agar

WEIGHT: 

A4
SHEET 10 OF 13SCALE: 1:12

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Slide Mia



E

DETAIL E
SCALE 1 : 10

M12 Nut cover

M10 Washer DIN9054
10x80 screw DIN571

M12 Nut cover cap

M12 Nut cover

M10 Washer DIN9054

10x80 screw DIN571
M12 Nut cover cap

B

C

D

1 2

A

321 4

B

A

5 6

C

Slide Mia

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:20 SHEET 11 OF 13

A4
WEIGHT: 

I.Agar 23.05.2023

LM004



F

DETAIL F
SCALE 1 : 7

6 x 90 Woodscrew6 x 90 Woodscrew6 x 90 Woodscrew

LM004 Start panel

B

C

D

1 2

A

321 4

B

A

5 6

C

Slide Mia

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:20 SHEET 12 OF 13

A4
WEIGHT: 

I.Agar 23.05.2023

LM004



G

H

H-950 slide

DETAIL G
SCALE 1 : 10
M8x45 bolt DIN603M8x45 bolt DIN603

M8 Nut DIN985 M8x30 bolt DIN603

M8 Nut cover
M8 Nut DIN985
M8 Nut cover cap

M8x50 bolt DIN933M8x50 bolt DIN933

DETAIL H
SCALE 1 : 10

M8 Nut cover
M8 Nut DIN985

M8 Nut cover cap

M8x45 bolt DIN603M8x45 bolt DIN603

M10x35 bolt DIN603M10x35 bolt DIN603

M8 Nut cover
M8 Nut DIN985

M8 Nut cover cap

M12 Nut cover

M10 Washer DIN9054
M10 Nut DIN985

M12 Nut cover cap

Plastic slide: M10x50 bolt DIN603

B

C

D

1 2

A

321 4

B

A

5 6

C

Slide Mia

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:30 SHEET 13 OF 13

A4
WEIGHT: 

I.Agar 23.05.2023

LM004


	Sheet1
	Drawing View1

	Sheet2
	Drawing View2

	Sheet3
	Drawing View3

	Sheet4
	Drawing View4
	Drawing View5

	Sheet5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View12
	Drawing View13

	Sheet6
	Drawing View14
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View19
	Drawing View34

	Sheet7
	Drawing View20
	Detail View A (1 : 10)
	Detail View B (1 : 10)
	Detail View C (1 : 10)

	Sheet1(2)
	Drawing View35
	Drawing View36
	Drawing View37

	Sheet8
	Drawing View24
	Detail View D (1 : 10)

	Sheet9
	Drawing View26

	Sheet10
	Drawing View27
	Detail View E (1 : 10)

	Sheet11
	Drawing View29
	Detail View F (1 : 7)

	Sheet12
	Drawing View31
	Detail View G (1 : 10)
	Detail View H (1 : 10)


